Dealer N Dealer E
None vul 5 00942 NSVU 8?%062
¢ K1073 1 ¢ 84 2
& 94 ® 832
& AQ9 o — & A74 & K109
v J7652 v Q984 |v K95 v A87
¢+ 5 ¢ A9842 ¢+ AQ1032 ¢ J97
Lesson 5 - Dummy and Declarer % K865 & J732 % K5 & A1097
0 * J1073 5 & J)832
v K103 v 43
10 7 QJ6 16 12 K65
13 & AQ10 7 % QJ64
Printed using BridgeComposer (https://bridgecomposer.com) Page 1
Dealer S Dealer W Dealer N Dealer E
W 5 193 Bonwul 5 hag o4 NSVU ’391%%3 EWVUT 5 ASS,
¢+ AQ8543 3 ¢ K5 ¢ J432 5 ¢ AK4 6
& J » A1086 *Q & 864
& Q32 & 1087 & 9 & AJ632 4 87 & J63 & J2 Y 810
v A9 v 762 v QJ32 v AK97 |v AJ7 v K94 |v J1053 v K7
¢ J1062 ¢ K7 ¢ A7432 ¢ Q6 ¢ K6 ¢ A108 |¢ 7632 ¢ QJ109
* Q976 & AK853 % Q52 » 93 ® J96432 & AK108 % 1052 * AQJ97
5 * KJ65 0 * Q8 9 & KQ102 v % K97654
v Q10854 v 864 v 85 v 964
9 10 4 9 9_14 4 J1098 9150%975 2 15 4 85
6 1042 7 & KJ74 . 6  &K3
Dealer S Dealer W Dealer N Dealer E
Bgtahe\;ul 3 %842 Ngﬁee{/ul 3 168862 E-eV?/?/rul 3 5%?08??3 Bgtahe\;ul 3 §%:?(9)95
¢ AJ53 7 ¢ 654 8 ¢ A6 9 ¢ Q2 10
& 103 & 42 * Al4 » 1086
& J8742 4 103 | AKQJ10 4 954 & A105 4 QJ4 |& A86543 & J7
v J97 v K653 |v J43 v KQ7 |v 987 v 0652 v K v 732
¢ 984 ¢ Q76 |+ AK ¢ 1083 ¢ QJ102 ¢ 873 |+ AJ9 ¢+ K10643
& 87 & K542 & QJ8 & A1096 # 1092 & K87 & A43 * K75
9 & AK5 0 & 62 1 * 62 . & K2
) g v A8 21 9 v A5 28 v AK4 6 7 v A864
0 ¢ K102 0 ¢ J972 o ¢ K954 0 ¢ 875
* AQJ96 & K753 # Q653 * QJ92
Dealer S Dealer W
Nons vil 5 X392 NSVl g 5983
eks2 11 .
® Q9432 » KJ9764
& J105 4 87643 |4 KQ54 & AJ7
v 854 v Q97632|v KJ1074 v AQ6
¢ AQJ3 ¢ 4 ¢ A75 ¢ 86
& A6 &7 & 3 & AQ52
1 *AK 9 & 962
oo Y K10 317 Y 832
¢ 109876 ¢ J10942
14 & KJ108 1 108
North South West East
Mean HCP  9.67 9.50 10.50 10.33
Balanced Hands 7 8 7 8
Voids 0 0 0 1
Singletons 3 1 4 2
Long Suits (>6) 0 0 0 0
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[Event ""]

[Site ""]

[Date ""]

[Board "1"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "None"]

[Deal "N:K86542.A.KT73.94 .Q984.A9842.J732 JT73.KT3.QJ6.AQT AQ9.J7652.5.K865"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



South becomes the declarant, and in cooperation with partner \S chooses as

trump. According to the ladder, North-South should take 8 tricks.



This is the first game with a blind man. Please note that the rules for who

leads have changed. Now the player to the left of the declarant must lead.



Ask if you can borrow North's cards, and show how the blind man is laid down,

so that the declarant sees the cards, and the chosen trump on your right side,

i.e. furthest to the left (first in the reading direction) seen from the

declarant's side. The blind man does everything to make things easy for the

declarant.



Make a point of saying "Good luck to partner", and "Thank you partner"



West can choose to play a small heart, or his lone diamond 5. The important

thing is that West does not choose a salute in the lead (since it promises a

sequence).



}

[BCFlags "1f"]

[Auction "N"]

10 7 13 10



[Event ""]

[Site ""]

[Date ""]

[Board "2"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "NS"]

[Deal "E:KT9.A87.J97.AT97 J832.43.K65.QJ64 A74.K95.AQT32.K5 Q65.QJT62.84.832"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



West becomes the leader, and the partner must take 10 tricks together.



Question: Who is the leader when West is the leader?



North leads \HQ, the top of the sequence. East lays down the blind man. Make

sure the trump is placed farthest to the right.}

[BCFlags "1f"]

[Auction "E"]

12 7 16 5



[Event ""]

[Site ""]

[Date ""]

[Board "3"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "EW"]

[Deal "S:KJ65.QT854.9.T42 Q32.A9.JT62.Q976 A94.KJ3.AQ8543.J T87.762.K7.AK853"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



North becomes the declarer. With 6-card diamonds on his own, it is difficult to

avoid choosing diamonds as trump. But it is in hearts that the partner will

have the most trump cards together.



Let North choose the trump card that North wants. When the blind man comes

down, you can ask if they found the suit with the most cards together? After

the game, discuss the advantages/disadvantages of choosing diamonds/hearts as

trump.



Who leads when North is the declarer?



East has no sequence. It is therefore possible that East chooses to play his

smallest club. This is perfectly fine, because according to the rules we have

learned so far, you should not play a trump card unless you have three cards in

sequence.



If the students question whether it is smart to play a small club before the

ace, we can take the ball up and say that against a trump contract we can make

an exception and play from only two cards in sequence.}

[BCFlags "1f"]

[Auction "S"]

6 9 15 10



[Event ""]

[Site ""]

[Date ""]

[Board "4"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "All"]

[Deal "W:9.QJ32.A7432.Q52 KT754.T5.K5.AT86 AJ632.AK97.Q6.93 Q8.864.JT98.KJ74"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East becomes the leader, and has the longest \S. This does not suit West, who

would like to suggest \D.



The task here is to find out that the suit in which both players have the

second most cards, \H, is the suit in which they have the most cards together.

Here, there may be different suits as trump at all tables, and we can discuss

in plenary whether anyone has a good strategy for finding the suit of hearts as

trump?



The goal is 8 tricks, and whether or not it works probably depends on what is

trump.



South has a sequence in \D and will often play out \DJ.}

[BCFlags "1f"]

[Auction "W"]

9 10 14 7



[Event ""]

[Site ""]

[Date ""]

[Board "5"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "NS"]

[Deal "N:A954.QT63.J432.Q J63.K94.AT8.AKT8 KQT2.852.Q975.75 87.AJ7.K6.J96432"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East becomes the declarer, and chooses \C as trump. The partner pair must take

at least 9 tricks together according to the straight.



South has no sequence. Note that we have not discussed broken sequences yet, so

make sure that all helpers are aware of this and do not bring this up for

discussion at the table. Introducing new rules at the table will only create

uncertainty.



Most likely there will be an overtrick. Why is that? Discuss.}

[BCFlags "1f"]

[Auction "N"]

9 15 7 9



[Event ""]

[Site ""]

[Date ""]

[Board "6"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "EW"]

[Deal "E:QT.K7.QJT9.AQJ97 K97654.964.85.K3 J2.JT53.7632.T52 A83.AQ82.AK4.864"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



North becomes the leader. Here the task is to find out that partner has a lot

of spades, so that we choose \S as trump. The goal is at least 8 tricks.



Who leads when North is the leader? East has a nice sequence of diamonds, and

\DQ is a good choice. Praise the students if they find this lead. Question:

What does \DQ show in lead? What card does East deny?



Question: How many trumps does the opponent have? The technique for leading the

trump comes first in lesson 7, so we will not focus on counting the trump,

other than making them aware that they can find out how many they are missing.}

[BCFlags "1f"]

[Auction "E"]

15 6 2 17



[Event ""]

[Site ""]

[Date ""]

[Board "7"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "All"]

[Deal "S:AK5.A8.KT2.AQJ96 J8742.J97.984.87 Q96.QT42.AJ53.T3 T3.K653.Q76.K542"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



Here, the partner has no suit with at least 8 cards in total.



Question: Ask in advance how many trumps should one have in total to choose to

play a trump contract instead of a grand?



It is possible that South still insists on clubs or another suit as trump, and

that will work out just fine.



North-South should take at least 11 tricks in total, and that is difficult. If

South manages to play one of the minor suits, it is well done. Brag about it,

and point out what was good.



If South goes bet, then let it go, they have not learned to play suits - that

will be the topic of the next lesson. What they can learn if South goes bet is

that it is more difficult to win the contract if you do not have many trumps in

total.}

[BCFlags "1f"]

[Auction "S"]

21 2 9 8



[Event ""]

[Site ""]

[Date ""]

[Board "8"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "None"]

[Deal "W:AKQJT.J43.AK.QJ8 873.T9862.654.42 954.KQ7.T83.AT96 62.A5.QJ972.K753"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East-West have 30 honor points together, and West chooses \S as trump. The goal

is 11 tricks.



Some North players will loudly express their dissatisfaction with the hand.

Wonder who it might help? Can declarer use that information? Talk about how

important it is to have a poker face, so that declarer does not reveal how the

cards are.



Question: How many trumps does the opponent have? NB! Techniques for taking out

the trump come in lesson 7. Therefore, we should not stress so much about

whether they take out the trump or not (it can be just as good learning in

standing tricks being trumped...), but we can start practicing calculating how

many trumps the opponent has.



West will manage 11 tricks if there are no steals to the opponent. Let the game

run its course, North-South will find it very unfair if you help declarer take

out the trump (in addition to asking the question in the first move about how

many trump cards they have).

}

[BCFlags "1f"]

[Auction "W"]

21 0 9 10



[Event ""]

[Site ""]

[Date ""]

[Board "9"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "EW"]

[Deal "N:K9873.JT3.A6.AJ4 QJ4.Q652.873.K87 62.AK4.K954.Q653 AT5.987.QJT2.T92"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "1f"]



[Event ""]

[Site ""]

[Date ""]

[Board "10"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "All"]

[Deal "E:J7.732.KT643.K75 K2.A864.875.QJ92 A86543.K.AJ9.A43 QT9.QJT95.Q2.T86"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "1f"]



[Event ""]

[Site ""]

[Date ""]

[Board "11"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "None"]

[Deal "S:AK.KT.T9876.KJT8 JT5.854.AQJ3.A65 Q92.AJ.K52.Q9432 87643.Q97632.4.7"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "1f"]



[Event ""]

[Site ""]

[Date ""]

[Board "12"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "NS"]

[Deal "W:KQ54.KJT74.A75.3 T83.95.KQ.KJ9764 AJ7.AQ6.863.AQ52 962.832.JT942.T8"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

[BCFlags "1f"]

�

